## LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

	NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
	<sup>XE</sup> DELTA BAY EONURETE	713764	1000028072	P.O. Box 858 OAKLEY, (A 9456	LONCRETE 1 GRINPING
	CONCRETE			OAKLEY, (A 9456 52 40 NEIZOLY RD OAKLEY, (A 94561	
	BUTTING INC			11.02 - 2011	
2	*. ELITE	1075086	1000832083	04-KLEY, (A 94561 4750-124 ALMADENEXPWY #338 SAN JOSE, (A	POOL COPING
	A. CUYTOM POOLG			SAN JOSE, LA	. ,
	Vé. INC.			9511B	
	7.	=			
	8.			- 	
	9.				
	10.				
	11.				
	12.		-		
	13.	12	"		
	14.				
	15.	·			

### END LIST OF SUBCONTRACTORS

Title: Prewett Park Concrete Improvements, Phase III in Antioch, CA (P.W. 567-9) Bids to be received by 2:00 p.m. December 14, 2021 Office of the City Clerk, City Hall, Antioch, CA

10

# SCHEDULE OF BID PRICES

ltem No.	Unit	Description		tended nount
1.	LUMP SUM	Mobilization, complete in place for the lump sum price	\$ 40,000,00\$ 40,	000. 000
2.	3,550 SF	Remove and Replace Deck Coating, complete in place for the unit price per square feet	JD 70.00 \$ 248	
3.	160 SF	Remove and Replace Concrete Stairs, complete in place for the unit price per square feet		600.00
4.	120 LF	Remove and Replace Concrete Pool Edge Coping, complete in place for the unit price per linear feet		000.00
5.	2,430 SF	Remove and Replace Concrete Flatwork, complete in place for the unit price per square feet		, 900. <del>00</del>
		TOTAL BID PRICE	\$ 398	006.00

# TOTAL BID PRICE: THREE HUNDREP NINTY EIGHT THOUSAND (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Company Name Printed

# LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1.				
2.		. 5	· · · · · ·	
3.				
4.				
5.				
6.				
7.	a . *	ŝ		
8.			7	
9.				
10.				
11.		Ţ	×.	
12.			1	
13.	~		,	
14.				
15.				

#### END LIST OF SUBCONTRACTORS

Title: Prewett Park Concrete Improvements, Phase III in Antioch, CA (P.W. 567-9) Bids to be received by 2:00 p.m. December 14, 2021 Office of the City Clerk, City Hall, Antioch, CA

# SCHEDULE OF BID PRICES

ltem No.	Unit	Description	Unit Price	Extended Amount	
1.	LUMP SUM	Mobilization, complete in place for the lump sum price	20,000 \$.30,000	20,000 (m) \$-30,000 (m)	
2.	3,550 SF	Remove and Replace Deck Coating, complete in place for the unit price per square feet	\$ 45	\$ 159,750	
3.	160 SF	Remove and Replace Concrete Stairs, complete in place for the unit price per square feet	\$250	\$ 40,000	
4.	120 LF	Remove and Replace Concrete Pool Edge Coping, complete in place for the unit price per linear feet	\$170	\$ 20,400	
5.	2,430 SF	Remove and Replace Concrete Flatwork, complete in place for the unit price per square feet	\$ 65	\$ 157,950	
		TOTAL BID PRICE	\$ 408,70	0 - 398,100 <sup>2</sup>	
INREE HUNDRED NINETY Egght					
тс	TOTAL BID PRICE: Four Hundred East Thousand ONE Mundred Dollars.				

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Kerex Engineering, Inc. Company Name Printed

## LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUWBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. None				* • r
2.				
3.				
4.				
5.	6			
6.				
7.				
8.				
9.				
10.	8			
11.				
12.				
13.				
14.				
15.				

#### END LIST OF SUBCONTRACTORS

Title: Prewett Park Concrete Improvements, Phase III in Antioch, CA (P.W. 567-9) Bids to be received by 2:00 p.m. December 14, 2021 Office of the City Clerk, City Hall, Antioch, CA

## SCHEDULE OF BID PRICES

ltem No.	Unit	Description	Extended Unit Price Amount
1.	LUMP SUM	Mobilization, complete in place for the lump sum price	\$ 18,500.00\$ 18.500.00
2.	3,550 SF	Remove and Replace Deck Coating, complete in place for the unit price per square feet	\$54.00 \$ 191,700.00
3.	160 SF	Remove and Replace Concrete Stairs, complete in place for the unit price per square feet	\$ 300.00 \$ 48,000.00
4.	120 LF	Remove and Replace Concrete Pool Edge Coping, complete in place for the unit price per linear feet	\$ 200.00 \$ 24,000.00
5.	2,430 SF	Remove and Replace Concrete Flatwork, complete in place for the unit price per square feet	\$ 52.00 \$ 126,360.00
		TOTAL BID PRICE	\$ 408,560.00

## TOTAL BID PRICE: Four hundred and eight thousand, Five hundred sixty dellars (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

ale

Signature of Bidder

Top Line Engineers, Inc. Company Name Printed